CASBEELBIZH+HERIEHDRERERITBE

KT ROZERICIRRRERG OBMEEIASL TS,

WICBEE-IZarA MERA

R#) IL7HR—LX4ES HETE

CASBEE [5 5 20165

B & =B B ST 5 | E A R 2
W1 THERRERIE X SR | DHEHE
1.1 B e
@Avh) KEEFREMRICEHL TS 3.0 0.25 |ot|=mmEss I -t 2| st Bz tete
3.0 0.75 |[wri|ZxRILF— k=22 b NA0r-G=kopilk
NG 3.0 0.14
1.2 BARAIRILF—DOFA
(=E7) XEESEFHERICEEH LTSN 3.0 100 |wi|zrox— 2| & sk an+ —FIH
INET] 3.0 0.05
1.3 JEATLOEMEEL
(AAUM) KERFEZERICERL TS, 3.1 1.00 |wi|zmx— sl 27 LS =L
BEI.OLLF
INET[ 3.1 0.26
1.4 BIEATLOHEMER
(=P S XEEEBELHRICREHEL T2 IRILF— 4|ZhEEER £E5EELUN DT A1|EZAYLY
IRILF— 4|3hEeER EE5EEUNDOFEE 42| EAEEAH
3.0 0.50 |[wri|THRILF— 4|z EpE R E A EEDE 'R E=E %)
3.0 0.50 |wi|THRLF— 4|33 =08 R £ A TN 42| ER BB
INR 3.0 0.10
15 ER-ITUTILRE
QxUh) XEEBFREMRISHHL TS, 4.0 010 |w=|&®m-<7u7L | 1[k&EEES 1.1|@oK
SE:;%@ﬁ;ﬁ%ﬁ:ﬁ%&?ﬁiips) 3.0 011 [ fﬁfﬁ-vflmb ! 7@;:17?:1%?% 2[RRI K EORA | 1|[FAHALRTLEADER
JH AL ERN-EMEEE 3.0 0.05 |we|&R-<7U7)L | 1[K&ERRE 1.2|FAFIFR-HKEDFIR | 2|#HkEHALRTLABAOHR
2.0 0.08 |[re|&E-<TUFIL | 2lEEnERoERSEE (21| #ERS 08I
3.0 0.15 |[Re|&E-<TUTIL | 2|kBEnEEosRSLR (22| RFRERFSOREER
3.0 0.15 |re|&E-=FUTIL | 2|kEErEROEREEIR |2.3[BEHBEEEUS 1oL HORR
3.0 0.15 |wre|&E-=TUTIL | 2|emsuamommEsm |2.4|ssmamicsts0s o Ltognm
3.0 0.08 |[re|&E-=vTFUTIL | 2|kEanEEoERSLR |25saTeassobEREN K
40 0.15 [Re|&E-<TUTIL | 2|kBEMEROERSLIR (2.6|8H0BHATELE EADKRES
INET| 3.2 0.31
1.6 2479 A40)LCO2#EHZE
(AU XEEFELERICEHL TSN 34 1.00 |wrs|susmsrizss 1| BB LA~ DERE
LCCO2#EHI F90%
INET| 34 0.13
1.1 ERGR BR 1L %4 58 | 0D 3 £ D 5F 4 31 0.68
W2 [E—F7ASURRRIDHEE
2.1 REMREDME L
@rvk) XEEFBEFBRITREBLTZIL, 20 049 |a3|=snms@uem) | 1|EmEsoreLaH
3.0 0.24 |Q3|=5IEE (BhR) | 3|t 7 AT ~DBEE|3.2| Bt RERIRE DM L
3.0 0.27 |-re|ZhthstIRtE 2|t BB~ DR E 22| RBBREELORE
INET| 25 0.97
2.2 IBEAETTHH
(FAh) - XEEFREWRISEHLTTEL, 4.0 1.00  |=o|supsiims 2| iBiBE~ORE |23\ TS~0REMH | o|xEAHDH
Eitgi5-BIEIGZRELEARANDEEEZITO TS
INET| 4.0 0.03
2.Ne=F 74701 5K 1 D HEHE D FF A 26 0.17
W3 [REMIEXIRIDHE
3.1 MHRAMDRELE
@*Uh)  XEEBEEMRCEBLTIEEN, 30 050 |oz2|y—txttse 2| it At -5 481 2.1 |- o B $IE - HIIR 1|t B (BIOZhhIz<E)
B R RSB L OERA 30 | 013 [oo|y—cxuee | ofmme-mmi 21|WE-RE-HEME | 2| RE SE SRR
- : 3.0 0.08 |Qz2|r—ExitAE 2|t -5 2.2| BB & - B D1t FH R 3K 1| SR A4 F D it FAESK
2.0 008 |oz2|y—txttse 2| it FAt4 -5 4E M 2.2| &R & - &4 DT FALE 3L 2|51 B £ M ORISR ERE
40 0.04 |o2|y—ERMEE 2|t At - 5 E 2.2| &0 & - &B44 DDt FAEE 2K lxEmsH EIHOEHLERR
3.0 0.04 |az2|v—Exits: 2| R - 1S 4E 2.2 B0 & - ERFT OO FRAE 2L 4| Z=RBRES VL OEHLEMR
5.0 0.08 |q2|v—Exits: 2|t R - 15 4B 2.2| 8B - BB O A EE %k 5|28 e KRE O EHF L EMIE
2.0 008 |oz2|y—Exttse 2|t Pt - 5481 2.2| 5B & - &4 DTt FAEE 31 6| EERHBOEHHEMR
INET| 3.0 0.44
32 F‘IEDEHM
(QAVR) KB OFEERERICRBL-FRERMLTUIEN. | 30 020 [oz2|4—Ezitse 3|t - B 33|BmoEHM 1|2 RERE DB
3.0 020 |Q2|r—EXxitsE 3|3 - BT 33| EIEDEHME 2/HEHIKEDEHMHE
3.0 0.10 |Q2|y—EXitHE 3|3 IG - T 33| EIEDERHM I EREMBMOEIM
3.0 010 |Q2|r—Ex1tAE 3%t i - EEHFTE 33| EEDEHME 4| BIERBRDOEHE
3.0 020 |Q2|—ERMtAE 3|3t - BT 33|l DEHMH 5|5 imtkar D EHME
3.0 0.20 |Q2|U—ERHE 3|3 IG - BT 33| ElEDEHM 6|/ SO T VT RAR—ZDFEGR
INET] 3.0 0.56
ST EFan xR 1D HEHE D FHE 3.0 0.14
BEAIEEHDOHKRFEY(LEEIER) 3.0




